SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 5)

TEST 3

Name:

Time: Score:

666158 — 223115 =

2203666 — 100105 =

3 898553 — 407110 =

1 552878 — 111155 =

5 561746 — 400303 =

6 336355 — 10144 =

N 574498 — 214402 =

8 677887 — 320046 =

9 985815 — 252203 =

1) 621089 — 310057 =

15397322 — 3307021 =

12) 2568423 — 2036220 =

13) 747683 — 604161 =

14691293 — 660053 =

15 881667 — 620313 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 5
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369144 — 111030 =

446734 — 112430 =

699659 — 133104 =

880512 — 270201 =

372037 — 271033 =

297439 — 104011 =

208136 — 101026 =

6765483 — 3040472 =

9392698 — 8212134 =

723290 — 511130 =

301836 — 301315 =

619148 — 411121 =

766658 — 340430 =

777678 — 653541 =

709373 — 7171 =
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